A-100

Table A-5-10 indicates the minimum length of vertical curve necessary to provide minimum
stopping sight distance at various speeds on crest vertical curves. The eye height of the
bicyclist is assumed to be 4.5 feet and the object height is assumed to be 0 inches to
recognize that impediments to bicycle travel exist at pavement level.

A "S" = Stopping Sight Distance (feet)

(%) 20| 40 | 60 | 80 |100| 120 | 140 | 160 | 180 | 200 | 220 | 240 | 260 | 280 | 300
2 30 | 70 | 110 | 150
3 20 | 60 | 100 | 140 | 180 | 220 | 260 | 300
4 15 | 55 | 95 | 135 | 175 | 215 ] 256 | 300 | 348 | 400
5 20 | 60 | 100 | 140 | 180 ] 222 | 269 | 320 | 376 | 436 | 500
6 10 [ 50 | 90 | 130171 | 216 | 267 | 323 | 384 | 451 | 523 | 600
7 31|71 (1111152 |199| 252|311 | 376 | 448 | 526 | 610 | 700
8 8 |48 | 88| 128 (174|228 | 288 | 356 | 430 | 512 | 601 | 697 | 800
9 20 | 60 |100| 144 | 196 | 256 | 324 | 400 | 484 | 576 | 676 | 784 | 900
10 30| 70 111|160 | 218 | 284 | 360 | 444 | 538 | 640 | 751 | 871 {1000
11 38 | 78 1122|176 | 240 | 313 | 396 | 489 | 592 | 704 | 826 | 958 (1100
12 5 | 45] 85 |133| 192 | 261 | 341 | 432 | 533 | 645 | 768 | 901 |1045|1200

13 11| 5192 (144|208 | 283 | 370 | 468 | 578 | 699 | 832 | 976 (1132|1300
14 16 | 56 J100|156| 224 | 305 | 398 | 504 | 622 | 753 | 896 |1052(1220(1400

15 20| 60 |107(167| 240 | 327 | 427 | 540 | 667 | 807 | 960 (1127|1307 1500

16 24 )1 64 |114|178| 256 | 348 | 455 | 576 | 711 | 860 [1024|1202|1394 (1600
17 27168 [121)|189| 272 | 370 | 484 | 612 | 756 | 914 |1088|1277|1481|1700
18 30 72 1128|200 288 | 392 | 512 | 648 | 800 | 968 |1152(1352|1568|1800
19 33 ] 76 |135|211| 304 | 414 | 540 | 684 | 844 |1022|1216(1427|1655|1900
20 35] 80 [142)|222| 320 | 436 | 569 | 720 | 889 |1076|1280|1502|1742|2000

21 37] 84 |149|233| 336 | 457 | 597 | 756 | 933 (1129(1344(1577|1829|2100
22 39] 88 |156|244| 352 | 479 | 626 | 792 | 978 [1183(1408(1652|1916|2200
23 41| 92 |164|256| 368 | 501 | 654 | 828 |1022(1237(1472(1728|2004|2300
24 43 | 96 |171|267| 384 | 523 | 683 | 864 |1067 (1291 |1536(1803|2091|2400
25| 4 | 44 (100(178|278| 400 | 544 | 711 | 900 [{1111|1344|1600|1878|2178|2500
Source: AASHTO — Guide for the Development of Bicycle Facilities.
Heavy line represents S =L

w

whenS>L L=2S- 900

A L = Minimum Length of Vertical Curve (feet)
A = Algebraic Grade Difference (%)
when S<L L =AS%900 S = Stopping Sight Distance (feet)
Height of cyclist eye — 4.5 feet Minimum Length of Vertical Curve = 3 feet

Height of object — O feet

TABLE A-5-10 - MINIMUM LENGTH OF CREST VERTICAL CURVE (L) BASED ON
STOPPING SIGHT DISTANCE
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